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QUESTION 1

Which structure can be applied when creating a rotating asset record? 

A. Material structures 

B. Child Asset structures 

C. Asset Details structures 

D. Item Assembly structures 

Correct Answer: D 

 

QUESTION 2

What is required to create an escalation? 

A. Site 

B. Schedule 

C. Condition 

D. Description 

Correct Answer: B 

 

QUESTION 3

If the Integrity Checker utility tool reports that some groups have no privileges in the Maximo security tables, how could
this be resolved? 

A. Run the integrity checker in repair mode 

B. Run the integrity checker in backup mode 

C. Create a new Maximo Security group for the Maximo security tables and run the Integrity Checker utility again 

D. Create a new security group with all grants on the Maximo security tables and run the Integrity Checker utility again 

Correct Answer: A 

 

QUESTION 4

Which statement is true regarding the escalation cron task? 

A. It must have an execution entry. 
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B. It runs all active escalations every 30 seconds. 

C. It runs all active escalation definitions at a set schedule 

D. It uses the SQL Expression Builder to retrieve records from the database 

Correct Answer: C 

 

QUESTION 5

Which statement is true related to a work order hierarchy? 

A. When changing the status of the parent, child work orders will always inherit the status of the parent work order. 

B. Work orders in the hierarchy may belong to any site for which the user has site access as defined in signature
security. 

C. If the parent has a value in the priority field and the children work order records do not, the children work order
records inherit the parent priority value. 

D. To create a work order hierarchy the originating parent work order must be in Waiting for Approval status before child
work orders can be associated with it. 

Correct Answer: C 
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